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QUESTION 1

You are designing a data center interconnect between two sites across a service provider Layer 3 VPN service. The
sites require Layer 2 connectivity between hosts, and the connection must be secure. 

In this scenario, what will accomplish this task? 

A. EVPN over IPsec 

B. MACsec encryption 

C. SSL VPN encryption 

D. stacked VLAN tagging 

Correct Answer: B 

 

QUESTION 2

You are asked to deploy a security solution in your data center that ensures all traffic flows through the SRX Series
devices. 

Which firewall deployment method meets this requirement? 

A. one-arm 

B. two-arm 

C. transparent 

D. inline 

Correct Answer: D 

Reference: https://www.juniper.net/us/en/local/pdf/implementation-guides/8010046-en.pdf 

 

QUESTION 3

Click the Exhibit button. 
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You are designing the virtualized server deployment shown in the exhibit in your data center. The vSRX device is acting
as a Layer 2 firewall and the two VMs must communicate through the vSRX device. 

Which two actions must you perform to accomplish this task? (Choose two.) 

A. Place both VMs in the same vSwitch 

B. Place both VMs in the same VLAN 

C. Place both VMs in different vSwitches 

D. Place both VMs in different VLANs 

Correct Answer: BC 

 

QUESTION 4

You must allow applications to connect to external servers. The session has embedded IP address information to
enable the remote system to establish a return session. 

In your design, which function should be implemented? 

A. source NAT 

B. application layer gateway 

C. destination NAT 
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D. HTTP redirect 

Correct Answer: A 

 

QUESTION 5

You are asked to provide a design proposal for a campus network. As part of the design, the customer requires that all
end user devices must be authenticated before being granted access to their Layer 2 network. 

Which feature meets this requirement? 

A. IPsec 

B. 802.1X 

C. NAT 

D. ALGs 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/802-1x- authenticationswitching-
devices.html 
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